Exercise answer section 

Chapter 20

an introduction to decision Theory

Exercise 20.1

a.
Payoff table.

	
	Repaid
	Difficulty
	Bankrupt

	Loan
	$110,000
	$108,000
	$70,000

	No loan
	108,000
	108,000
	108,000


(Loan)

EMV(A1) = 0.85 ($110,000) + 0.10 ($108,000) + 0.05 ($70,000) = $107,800

(No loan)
EMV(A2) = $108,000

Since $108,000 is greater than $107,800 the banker should not make the loan.

b.
EMV = 0.85 ($110,000) + 0.10 ($108,000) + 0.05 ($108,000) = $109,700

c.
EVPI = $109,700 ($108,000 = $1,700

Exercise 20.2

	
	Repaid
	Difficulty
	Bankrupt

	Loan
	0
	0
	$38,000

	No loan
	$2,000
	0
	0


EOL(A1) (Loan)
= 0.05 ($38,000) = $1,900

EOL(A2) (No loan) 
= 0.85 ($2,000) = $1,700

The expected opportunity loss is the smallest for the act of no loan and the same as the value of perfect information ($1,700).

